
RTX

EP

AV

CS

IN

EL

AV

TO

PS

BV

1-800-247-9653  •  225 Airport Circle, Corona, CAPrices Subject to Change Without Notice 19

INTERCOOLER, WASTEGATE
Item
No. Part No Description Qty.

Req. Price

1 201-017 AIR INTAKE HOSE 1 CALL
2 951-791 CLAMP 50-70 2 $9.34
3 947-781 REDUCTION SLEEVE 1 CALL
4 924-623 IMPULSE ELBOW 2 CALL
5 812-382 VALVE HOUSING 1 CALL
6 431-740 O-RING 38x2.4-N, VITON GLT 70 1 CALL
7 840-511 ALLEN SCREW M5x16 4 $0.48
8 667-194 VALVE PISTON 1 CALL
9 950-932 SEALING RING PTFE 1 CALL

10 838-372 COMPRESSION SPRING DM22 D1.5 L65 1 CALL
11 450-390 O-RING 54x2-N, FPM 1 CALL
12 812-391 VALVE COVER 1 CALL
13 664-364 PRESSURE SENSOR 2.0 2 $309.41
14 874-333 FUEL HOSE 6x11 3 CALL
15 851-468 CLAMP 10.3 – 12.8 5 CALL
16 664-638 SOLENOID VALVE 1 CALL
17 951-898 CLAMP 8 – 11 1 $8.64
18 853-381 CLAMP 40-60 4 CALL
19 888-962 INTERCOOLER 1a $626.40
20 888-963 INTERCOOLER - NON-CERTIFIED 1 $696.14
21 888-965 INTERCOOLER - NON-CERTIFIED 1 $580.10
22 825-900 AIRFILTER - NON-CERTIFIED 1 CALL

a	 standard, see Installation Manual

FUEL INJECTOR, FUEL RAIL, PRESSURE 
REGULATOR, FUEL RAIL COVER
Item
No. Part No Description Qty.

Req. Price

1 874-795 FUEL RAIL 1/3 (RIGHT) 1 $329.83
2 874-797 FUEL RAIL 2/4 (LEFT) 1 CALL
3 945-750 LOCK WASHER A5 1 $0.14
4 640-541 ALLEN SCREW M5x12 1 $0.35

5–7 874-780 FUEL INJECTOR 8 $181.29
6 831-060 O-RING 7.52x3.51 8 $11.19
7 831-050 O-RING 8.54x3.1 VITON B70 8 $6.50
8 860-042 DAMPER LEFT 2 $3.43
9 860-040 DAMPER RIGHT 2 $3.43

10 250-640 SEALING RING A 12x18-CU 7 $1.92
11 641-540 BANJO BOLT 3 $22.05
12 874-802 FUEL LINE ASSEMBLY 1 CALL
13 853-412 CABLE CLAMP 1 $5.69
14 945-751 LOCK WASHER A6 1 $0.21
15 241-239 ALLEN SCREW M6x16 1 $3.43
16 874-770 PRESSURE REGULATOR HOUSING 1 $98.27
17 889-262 FUEL PRESSURE REGULATOR ASSEMBLY 1 $337.45
18 845-650 RETAINING RING 36x1.5 1 $1.78
19 941-791 ALLEN SCREW M5x45 1 $1.08
20 841-501 ALLEN SCREW M5x35 1 $0.81
21 840-700 ADAPTER 9/16 UNF/M12x1.5 1 $65.99
22 960-631 TUBE 60 +/-3 MM 1 $6.90
23 853-653 1–EAR-CLAMP 2 CALL
24 975-090 HEAT SHIELD 2 $7.92
25 975-065 COVERING FUEL RAIL 2 CALL
26 939-445 SPRING WASHER 12x5.2x0.5 4 CALL
27 640-541 ALLEN SCREW M5x12 4 $0.35

915 iS ENGINE

https://www.cps-parts.com/catalog/pnpages/800-247.php
https://www.cps-parts.com/catalog/pnpages/201-017.php
https://www.cps-parts.com/catalog/pnpages/951-791.php
https://www.cps-parts.com/catalog/pnpages/50-70.php
https://www.cps-parts.com/catalog/pnpages/947-781.php
https://www.cps-parts.com/catalog/pnpages/924-623.php
https://www.cps-parts.com/catalog/pnpages/812-382.php
https://www.cps-parts.com/catalog/pnpages/431-740.php
https://www.cps-parts.com/catalog/pnpages/840-511.php
https://www.cps-parts.com/catalog/pnpages/667-194.php
https://www.cps-parts.com/catalog/pnpages/950-932.php
https://www.cps-parts.com/catalog/pnpages/838-372.php
https://www.cps-parts.com/catalog/pnpages/450-390.php
https://www.cps-parts.com/catalog/pnpages/812-391.php
https://www.cps-parts.com/catalog/pnpages/664-364.php
https://www.cps-parts.com/catalog/pnpages/874-333.php
https://www.cps-parts.com/catalog/pnpages/851-468.php
https://www.cps-parts.com/catalog/pnpages/664-638.php
https://www.cps-parts.com/catalog/pnpages/951-898.php
https://www.cps-parts.com/catalog/pnpages/853-381.php
https://www.cps-parts.com/catalog/pnpages/40-60.php
https://www.cps-parts.com/catalog/pnpages/888-962.php
https://www.cps-parts.com/catalog/pnpages/888-963.php
https://www.cps-parts.com/catalog/pnpages/888-965.php
https://www.cps-parts.com/catalog/pnpages/825-900.php
https://www.cps-parts.com/catalog/pnpages/874-795.php
https://www.cps-parts.com/catalog/pnpages/874-797.php
https://www.cps-parts.com/catalog/pnpages/945-750.php
https://www.cps-parts.com/catalog/pnpages/640-541.php
https://www.cps-parts.com/catalog/pnpages/874-780.php
https://www.cps-parts.com/catalog/pnpages/831-060.php
https://www.cps-parts.com/catalog/pnpages/831-050.php
https://www.cps-parts.com/catalog/pnpages/860-042.php
https://www.cps-parts.com/catalog/pnpages/860-040.php
https://www.cps-parts.com/catalog/pnpages/250-640.php
https://www.cps-parts.com/catalog/pnpages/641-540.php
https://www.cps-parts.com/catalog/pnpages/874-802.php
https://www.cps-parts.com/catalog/pnpages/853-412.php
https://www.cps-parts.com/catalog/pnpages/945-751.php
https://www.cps-parts.com/catalog/pnpages/241-239.php
https://www.cps-parts.com/catalog/pnpages/874-770.php
https://www.cps-parts.com/catalog/pnpages/889-262.php
https://www.cps-parts.com/catalog/pnpages/845-650.php
https://www.cps-parts.com/catalog/pnpages/941-791.php
https://www.cps-parts.com/catalog/pnpages/841-501.php
https://www.cps-parts.com/catalog/pnpages/840-700.php
https://www.cps-parts.com/catalog/pnpages/960-631.php
https://www.cps-parts.com/catalog/pnpages/853-653.php
https://www.cps-parts.com/catalog/pnpages/975-090.php
https://www.cps-parts.com/catalog/pnpages/975-065.php
https://www.cps-parts.com/catalog/pnpages/939-445.php
https://www.cps-parts.com/catalog/pnpages/640-541.php
https://www.cps-parts.com/catalog/pnpages/250-640.php
https://www.cps-parts.com/catalog/pnpages/250-640.php
https://www.cps-parts.com/catalog/pnpages/250-640.php
https://www.cps-parts.com/catalog/pnpages/250-640.php
https://www.cps-parts.com/catalog/pnpages/250-640.php
https://www.cps-parts.com/catalog/pnpages/250-640.php
https://www.cps-parts.com/catalog/pnpages/250-640.php
https://www.cps-parts.com/catalog/pnpages/951-791.php
https://www.cps-parts.com/catalog/pnpages/664-364.php
https://www.cps-parts.com/catalog/pnpages/840-511.php
https://www.cps-parts.com/catalog/pnpages/888-962.php
https://www.cps-parts.com/catalog/pnpages/888-965.php
https://www.cps-parts.com/catalog/pnpages/888-963.php
https://www.cps-parts.com/catalog/pnpages/860-040.php
https://www.cps-parts.com/catalog/pnpages/641-540.php
https://www.cps-parts.com/catalog/pnpages/641-540.php
https://www.cps-parts.com/catalog/pnpages/641-540.php
https://www.cps-parts.com/catalog/pnpages/874-797.php
https://www.cps-parts.com/catalog/pnpages/874-797.php
https://www.cps-parts.com/catalog/pnpages/874-797.php
https://www.cps-parts.com/catalog/pnpages/860-042.php
https://www.cps-parts.com/catalog/pnpages/840-700.php
https://www.cps-parts.com/catalog/pnpages/941-791.php
https://www.cps-parts.com/catalog/pnpages/640-541.php
https://www.cps-parts.com/catalog/pnpages/640-541.php
https://www.cps-parts.com/catalog/pnpages/640-541.php
https://www.cps-parts.com/catalog/pnpages/874-795.php
https://www.cps-parts.com/catalog/pnpages/975-090.php
https://www.cps-parts.com/catalog/pnpages/831-060.php
https://www.cps-parts.com/catalog/pnpages/831-060.php
https://www.cps-parts.com/catalog/pnpages/831-050.php
https://www.cps-parts.com/catalog/pnpages/831-050.php
https://www.cps-parts.com/catalog/pnpages/241-239.php
https://www.cps-parts.com/catalog/pnpages/853-412.php
https://www.cps-parts.com/catalog/pnpages/945-751.php
https://www.cps-parts.com/catalog/pnpages/853-653.php
https://www.cps-parts.com/catalog/pnpages/853-653.php
https://www.cps-parts.com/catalog/pnpages/975-090.php
https://www.cps-parts.com/catalog/pnpages/889-262.php
https://www.cps-parts.com/catalog/pnpages/845-650.php
https://www.cps-parts.com/catalog/pnpages/960-631.php
https://www.cps-parts.com/catalog/pnpages/874-770.php
https://www.cps-parts.com/catalog/pnpages/250-640.php
https://www.cps-parts.com/catalog/pnpages/841-501.php
https://www.cps-parts.com/catalog/pnpages/640-541.php
https://www.cps-parts.com/catalog/pnpages/640-541.php

